oboobooobgIog '04/10/60 00000 (10:400 12:10)

O0. 00000 XOOOO
Tx(a) = Xa, (a € R")

oo R*OOR*ODO00O0O00 ITxOOooooooooO

O0. 000 nO0DO0O A BO A+B=1,,rankA+rankB=n00000
goooogo

1) KerTy =ImTg.
2) AB=BA=0, A’=A, B?=B.

00. 000000 AD A2=7,000000000000

Vi=ImTayg,,

Vo =ImTa_r,

0000s=dimV;, t=dimV, 0000
1) s+t=n000000000
OoOoovin',0Vi+1,0000000000000000000000
2) {er,...,es} 0 VOOOO{fr,...,. £ 0 V0000000
0000 {e,...,es, f1,..., ) 0 R*O00000000O0O000O
3) T=(e1,...,esf1,..., ) 0000 T 0000000000

v (I, O
rar- (5 9)

gobboooogboo

oo.0ouoo vouo vooooouood A,..., P00

1) P?=P;, j=1,...k

2) PiP,=0,j#k

3) P+ + P, =idy
ooooooow,=ImP; 00000V=Wy®---0oW, 00000000000
003)0000 flv)=P(v)+---+P() 000000000000



O0.00000o0oooo v,woovoowoooooo foooooooo
o000 v,wiooooooo fO0DDO0O00oo0ooOfOo0bDDOoOOOoOOOn
gbddouououoouoououououoooooon
1) A=(a;;);; €GL(;K) 00000000V =W = M,(K)0DOOf(X) =
AXA-'OD0OO fO
2) A= (ay)i; € Mn; K)ODOOOODOOV =W =M, (K)0DO0Of(X) =
AX - XADOOO f.
3) V={00200 K-000t00000000 }, W =K, f(¢) = »(0)00
OeeV.
4) V={00200 K-OOO+¢00000O0O00 }, W =K?,
©(0)
fe)=| £
590”(0)

000 geV.

O0. f:V-V0O0OOOO0OO0EE0VIIDDDD0D0D0D0nAD foEOOO
O00000AD f0&00000000000000Odet A’ =detA, trA’ =trd
obobooboon.

OO0.000,f0000detf,‘fO00D00trf OO000DOOOOOODO

00. Vi,Ve, V30 K-O0OODO, &, &, &D0000 W,V V3,0 KOOOOOO
00f:Vi—Va,g:Vo—Vs00000 K-OOOOOAy, A,00000 £0 &,&
000000000¢0 &, 0000000000000, gof0 &,60000
00000 A,A, 00000000,



